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R02 |R03 [R04 [ROS5 [RO6

A01-001 1 L=236.6km [ I B B BN 108
A01-002 L=0.25km [ I 17
A01-003 29 L=0.37km [ I 50
A01-004 L=0.54km [ I B A B | 80
A01-005 N=1 u 521
A01-006 L=0.30km [ I B A B | 75




R02 |R03 [R04 [ROS5 [RO6

A01-007 41 L=0.92km L I B B BN 40
A01-008 L=1.40km L I B B BN 40
A01-009 L=0.50km L I B B BN 50
A01-010 L=0.01km [ I B 168
A01-011 N=1 u 28
A01-012 L=0.70km L I B B BN 70




R02 |R03 [R04 [ROS5 [RO6

A01-013 5 N=1 [ I 35
A01-014 L=0.05km [ I B B 95
A01-015 N=3 [ I 12
A01-016 L=0.10km [ I B A B | 90
A01-017 13 L=0.01km [ I 234
A01-018 2 L=1.06 [ I B B BN 17




R02 |R03 [R04 [ROS5 [RO6

A01-019 L=1.82 [ [ [ [ [ 17

A01-020 L=0.73 [ [ [ [ [ 17

A01-021 L=0.32km | B ] 50
NN 181 |

1,814|




RO2 RO3 RO4 RO5
@ 199 27 21 37
() 0 0 0 0
(c=atb) 199 27 21 37
() 67 10 12 13
e) 256 25 20 35
(O) 10 12 13 15
@ 10 12 1 3
(h = ct+d-e-f) 0 0 0 0
(i = (g+h)/(c+d)) 3.75 32.43 3.03 6
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